
3-hole pattern on the kneeboard plate will be used for X-naut Mini ONLY. 
4 hole pattern is designed for larger X-naut models.

Begin by aligning the bottom two holes of the kneeboard plate with
the 2 holes of the X-naut mini. Insert the 8-32 mounting screws.

Turn over and fasten screws with 8-32 nuts.

Rotate kneeboard plate to align top hole. 
Insert 8-32 screw, turn over and fasten with 8-32 nut.

Kneeboard Kit / X-naut Mini Installation Instructions
Tools Needed: Phillips Screwdriver
Hardware: (3) 8-32 Screws (3) 8-32 Nuts


